Name: KEY l- Date: Hour:

Unit 8 Review: Volume & SA

1. A right rectangular prism has
dimensions 6, 12, and 15. Find

D 1080 unifs®
b)._ LPVL{ onits*

a. its volumg.l-w.}‘ 1L
7120 1D

b. its surface area.

Folzle =10 qp  ThOED

B: 19D Ti2b=72  (OHED*+90+90+T2+72

R: 0-19=90 B: T2
2. Find the exact volume of a right cylinder 2) LD! C)’ (ﬂ Uﬂ“’gg

with dlamite_}: of 14 and hEJ_ghtOofé —n— r .

r= QL
4 7%= 19%.9
Ly x Y =

3. A pyramid has a square base. Its @+ 3 3) I 2"”

is 196 cubic inches. If the length of a base edge e
is 7 inches, what is its height? h I

h O8ast: 77 AT h = 192
ﬁ% Sy /TS | ,
4. gj:nd the lateral area of the c%‘e:bt%ezowi%g 4) IE) g gl LP Uhi'k)
LA= L ”‘>C 2T
A= z . 277 4¢
==1027901.6 3010
=15, 5810

5. ."‘-An open rectangular box has a base 8 in. by 5) qu Q 'n
\12 in. and a height of 10 in. How much paper
.1s needed to cover the out_Gmrface of all

five sides?  Fyonts gl0=g Z
/ A Potonn: €1 @
Tl Back: §0+€0+120+ 120+ 90

3 Left IZCl&O)) 20 - 5

6. @has sur&gceh:rea 486 cm . Find its 6) 720‘ C'm
volume .

g R V=0 w

9%—2 “4% - 9.9.9
fo = 119




Name: Date: Hour:

7.

Consider the sphere at the right. 7) ' w2
a. Find its surface area. a) lz%lpc LP Unﬁé
' o) 1188, § units

b. Find its volume.

6) SA=47-r” b) V= &y

8.

9.

0%rh%=

3+ b= G = YN 5%0.9 +3
P—M’ﬁ(ﬂfh 315 7,14 25

169

11.

12,

SA= Yoqior? r‘
100 = x

=g (0% =TI’

Refer to the drawing of the right prism 8) NO
and the right cylinder shown below. If the two
figures have the same height, will they have
th 1 ? Wh h t?
e same volume? Yy or why no B )( ﬁ, W )h C\“ BGQQ _“, r.
- 5% =
| b 1-4m h “ 28.%
h| b~ 0.3 h ah
4n .
S )

e E@Qnd ) iﬂ%qu |n3

Find ‘the {olum of the cone below.

O Base: T (=
\ \35-{ in. T \%

State a formula for determining the latergl 10} CP-»Zgr
area of a right cone if its radius is r and

its slant helght J.s 2r 7 (= 7T r

b

bL-28 7™ q
Give the cube root of 120 to the nearest 11) L{ L
hundredth.
“2decimal)
The Gurface area_o re is 200 cm® 12) L"Ocm

Give the radius of the sphere to the
nearest tenth.

RRTARL
'S

-

50 =
L




. Name:

13,

14.

15,

18,

Date: Hour:
a, Express the volume of the 13) \ /
box pictured at the right
as a product of expressions. 2w
b. Expand the expression. 4 \
2 W /
2w 2 1

150, % f+*

How much heat-resistant material is needed to
cover the nose of.a rocket that is a right cone
{except for the base) with a radius of 6 feet

and 2 8Tant height . E—J-.glt of 8 eet? ng-n- r
LA=+ ﬂ_

é = 2T lo
S =—‘z-8-312l

31T

How much water,to the nearest cubic
centimeter, can a cone-shaped cup with a
diameter of 6 cm and a height of 12 cm

13.09 cin

ho 147 3 Vol e N 7|2 = __éﬂ_l__ H% 0%
12 OBact: Tr* .
n3* —Z? 17

Suppose all the dimensions of a cube are 16)
myltiplied by 10.

a. What happens to its surface area? 20 20= "IOD

| %2 n

A ball is 15 cm in dia
area of the ball?

v L‘Tr 7-52-
A feedin.g trough for—{gtl:‘f:i:lis show@\ml\]w 18) (—02' 85 Unjfsg

00 times larger
m_LO_QO_i’lmg_JL_lr%,w

izo V= 20°20-20° Qooo

gter What is the surface 17)

106.9cm™

below. About how much feed will it (hold?
Round to the nearest whole number.

/ H&p (\/\\\'\ﬁiﬂ(
OBase: T~

27

12.57
X110

25.7 + 2
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432 at ¢ d
: n3 onite®

19. State a formula for determining the volum
of a regular square pyramid if the s1aes of

the soase have length n and 1ts h gh«t is 3n.
A Beestnon. ‘ng
RALL I ez

20, An rc‘gbllque rectangular prism has a base with ? ()Iﬂl

length 28 and wid 10, The heidght of the prism
is 21. Pind jts folume.

ﬁ/wh
10 7¢ - 10 - 21 = : - C ]
21, Flng-gthe aai-aaetof an Obllque 21)_ L“ﬁ Z‘L‘ Uhﬁsz-

3

22,

. PR
| X \\\' | 21 | 2\ vnits
. Find the area of its bhase, - \ 28 cm . 2.
b. Find the total surface area. l\\ ‘ b) —157 Un""S‘ 5
| 4 c) \\Oq.z. Unl’rS

¢. Find its @
Round to the naarest tenth. A a*tbr=c2 .
b) LA= *-‘7: Oa" 4= 0) D t%aga 12.1 55%4 12 =28~ jf*r 71537
L. , o X715 30.25+b*="184 b =
z 23775 3028 -30.25 =215
U’lLﬂ“‘ll\'75-{ Pt

A right cone has slant height of 1B and a base 23) 7(95 U‘(}H'S
dlameter 18. Find_its surface area. )

_L, AC=72.M¥ 508 5
-LA:E.%?)GE : 2T A A5
z'18:55 95 2o h=20.9% cmn

2-,5’4'524. The }@Ll_me of a cone is 63
radius is 3 cm, what is its helght’
h= 20.98

OB(M Trr'z 2835 = (o33
Pt

28:?7 L .‘ﬂ = .77
25. A sp has a diameter of 18. ZMat is ?—?" ,Sl 2 £2 }fd
to the nearest tenth of a square

its olume

Yard’? V__ -H— _“, Y’
-i SR NE



